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7KLV�ZRUN�LV�FRS\ULJKW��1R�SDUW�RI�WKLV�SXEOLFDWLRQ�PD\�EH�UHSURGXFHG�RU�XVHG�LQ�DQ\�ZD\�ZLWKRXW�DFNQRZOHGJHPHQW�WR�WKH�$XVWUDOLDQ�&KDPEHU�RI�&RPPHUFH�DQG�
,QGXVWU\�

'LVFODLPHUV�	�$FNQRZOHGJHPHQWV
7KH�$XVWUDOLDQ�&KDPEHU�RI�&RPPHUFH�DQG�,QGXVWU\�KDV�WDNHQ�UHDVRQDEOH�FDUH�LQ�SXEOLVKLQJ�WKH�LQIRUPDWLRQ�FRQWDLQHG�LQ�WKLV�SXEOLFDWLRQ�EXW�GRHV�QRW�JXDUDQWHH�
WKDW�WKH�LQIRUPDWLRQ�LV�FRPSOHWH��DFFXUDWH�RU�FXUUHQW��,Q�SDUWLFXODU��WKH�$XVWUDOLDQ�&KDPEHU�LV�QRW�UHVSRQVLEOH�IRU�WKH�DFFXUDF\�RI�LQIRUPDWLRQ�WKDW�KDV�EHHQ�
SURYLGHG�E\�RWKHU�SDUWLHV��7KH�LQIRUPDWLRQ�LQ�WKLV�SXEOLFDWLRQ�LV�QRW�LQWHQGHG�WR�EH�XVHG�DV�WKH�EDVLV�IRU�PDNLQJ�DQ\�LQYHVWPHQW�GHFLVLRQ�DQG�PXVW�QRW�EH�UHOLHG�
XSRQ�DV�LQYHVWPHQW�DGYLFH��7R�WKH�PD[LPXP�H[WHQW�SHUPLWWHG�E\�ODZ��WKH�$XVWUDOLDQ�&KDPEHU�GLVFODLPV�DOO�OLDELOLW\��LQFOXGLQJ�OLDELOLW\�LQ�QHJOLJHQFH��WR�DQ\�SHUVRQ�
DULVLQJ�RXW�RI�XVH�RU�UHOLDQFH�RQ�WKH�LQIRUPDWLRQ�FRQWDLQHG�LQ�WKLV�SXEOLFDWLRQ�LQFOXGLQJ�IRU�ORVV�RU�GDPDJH�ZKLFK�\RX�RU�DQ\RQH�HOVH�PLJKW�VXIIHU�DV�D�UHVXOW�RI�WKDW�
XVH�RU�UHOLDQFH�
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&K$)7$�LV�JRRG�IRU�$XVWUDOLDQ�-REV

7KH�&KLQD�$XVWUDOLD�)UHH�7UDGH�$JUHHPHQW �&K$)7$��KHOSV $XVWUDOLDQ�H[SRUWHUV�WR�JURZ�DQG�
FUHDWH�MREV�IRU�$XVWUDOLDQV��7KHVH MREV�DUH WKUHDWHQHG�E\�D�VFDUH�FDPSDLJQ�LPSO\LQJ WKDW�WKHVH�
QHZ�MREV�ZLOO�QRW�JR�WR�$XVWUDOLDQV��RU�WKDW�WKH�DJUHHPHQW�RSHQV WKH�GRRU�WR�³KRUGHV�RI�FKHDS�
&KLQHVH�ZRUNHUV´�

%XW�$XVWUDOLDQV�KDYH�QR�QHHG�WR�EH�FRQFHUQHG��:KLOH��DUJXDEO\��WKH�WH[W�RI�WKH�DJUHHPHQW�PD\�
FUHDWH�WKH�LPSUHVVLRQ�WKH�ODERXU�SURYLVLRQV�ZLOO�KDYH�D�VLJQLILFDQW�LPSDFW��WKH�UHDOLW\�LV�WKDW�VXFK�
LPSUHVVLRQV�DUH�LOOXVRU\�

&RQFHUQV�FHQWUH�RQ�WKUHH DVSHFWV��)LUVWO\� WKDW�VRPH RFFXSDWLRQV�ZLOO�QRW KDYH�WR�EH�VNLOOV�
DVVHVVHG� DQG�VHFRQGO\� WKDW�MREV�JHQHUDWHG�E\�&KLQHVH�FRPSDQLHV�ZRUNLQJ�RQ�$XVWUDOLDQ�SURMHFWV�
ZLOO�QRW EH�DGYHUWLVHG�RU�RIIHUHG�WR�$XVWUDOLDQV� 7KLUGO\��DQG�PRVW�VSHFXODWLYHO\��WKDW�WKH�DJUHHPHQW�
ZLOO�OHDG�WR�ZRUNHUV�UHFHLYLQJ�ZDJHV�DQG�FRQGLWLRQV�ORZHU�WKDQ�HTXLYDOHQW�$XVWUDOLDQ�ZRUNHUV�

6NLOOV�DVVHVVPHQW
,Q�D�VLGH�OHWWHU�WR�&K$)7$� $XVWUDOLD�DJUHHG�WR�UHGXFH�IURP����WR����WKH�VNLOOHG�RFFXSDWLRQV�VXEMHFW�
WR�PDQGDWRU\�VNLOOV�DVVHVVPHQW�IRU�&KLQHVH�DSSOLFDQWV�IRU�D�WHPSRUDU\�VNLOOHG�PLJUDWLRQ�YLVD������
YLVD�� 7KHVH�RFFXSDWLRQV�LQFOXGH�DXWRPRWLYH�HOHFWULFLDQ��FDELQHWPDNHU��FDUSHQWHU�DQG�HOHFWULFLDQ��
7KHUH�LV�DOVR�D�FRPPLWPHQW�WR�UHYLHZ�WKH�UHPDLQLQJ����RFFXSDWLRQV�DQG�SURJUHVV�EHWWHU�WUDGHV�
UHFRJQLWLRQ���7KLV�PD\�VRXQG�FRQFHUQLQJ�EXW�IXUWKHU�LQIRUPDWLRQ�VKRZV�ZK\�WKHVH�FRQFHUQV�DUH�
PLVSODFHG���

8QGHU�$XVWUDOLD¶V�WHPSRUDU\�VNLOOHG�PLJUDWLRQ�SURJUDP� IRU�ZRUNHUV�FRPLQJ�IURP�PRVW�FRXQWULHV�DQG�
IRU DOO�VNLOOHG�RFFXSDWLRQV IURP�WKRVH�FRXQWULHV���VNLOOV�DVVHVVPHQW�LV�QRW�PDQGDWRU\��,QVWHDG�WKH�
'HSDUWPHQW�RI�,PPLJUDWLRQ�DQG�%RUGHU�3URGXFWLRQ�KDV WKH�GLVFUHWLRQ�WR�UHO\�RQ�HYLGHQFH�VXFK�DV�
SURRI�RI�TXDOLILFDWLRQV��&9�DQG�H[SHULHQFH�

%XW IRU����WUDGH�RFFXSDWLRQV� LQFOXGLQJ�WKH�RQHV�OLVWHG�LQ�WKH�VLGH�OHWWHU��EXW�RQO\ IRU�ZRUNHUV�IURP�
���VSHFLILHG�FRXQWULHV� WKH�',%3�KDV�QR�GLVFUHWLRQ�± VNLOOV�DVVHVVPHQW�LV�PDQGDWRU\��7KHVH����
FRXQWULHV�DUH�%UD]LO��&KLQD��LQFOXGLQJ�+RQJ�.RQJ�DQG�0DFDX���)LML��,QGLD��3DSXD�1HZ�*XLQHD��
3KLOLSSLQHV��6RXWK�$IULFD��7KDLODQG��9LHWQDP��DQG�=LPEDEZH��

7KH�VLGH�OHWWHU�DJUHHV�WR�PRYH�&KLQD�IURP�WKLV�OLVW�DQG�EDFN�LQWR�WKH�GLVFUHWLRQDU\�JURXS�LQ�ZKLFK�
PRVW�FRXQWULHV�UHVLGH IRU����RI�WKH����UHOHYDQW�RFFXSDWLRQV��PHDQLQJ�WKDW�DQ�DVVHVVPHQW�FRXOG�EH�

�
:LWK�WKH�H[FHSWLRQ� VLQFH �����RI�WZR�JHQHUDO�RFFXSDWLRQV�RI�3URJUDP�DQG�3URMHFW�$GPLQLVWUDWRU DQG�6SHFLDOLVW�0DQDJHU�QRW�HOVHZKHUH�

FODVVLILHG�
�
)RU�D�IXUWKHU�WKUHH�RFFXSDWLRQV��IRU�ZRUNHUV�IURP�RQO\�VRPH�RI�WKHVH�FRXQWULHV��QRW�LQFOXGLQJ�&KLQD��DVVHVVPHQW�LV�DOVR�PDQGDWRU\�
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UHTXLUHG�EXW�LV�QRW�PDQGDWRU\��)RU�WKH�RWKHU����RFFXSDWLRQV�&KLQD�ZRXOG�VWD\�RQ�WKH�OLVW�IRU�DW�OHDVW�
WKH�QH[W�WZR�\HDUV��UHWDLQLQJ�PDQGDWRU\�VNLOOV DVVHVVPHQW�

7KHUHIRUH�WKH�LPSDFW�RI�WKH�VLGH�OHWWHU�LV�WR�WUHDW�&KLQHVH�ZRUNHUV�LQ�WKH����OLVWHG�RFFXSDWLRQV�
DORQJVLGH�ZRUNHUV�IURP�DOO�EXW�QLQH�FRXQWULHV��DQG�DOVR�DORQJVLGH�VNLOOHG�&KLQHVH�ZRUNHUV�IURP�WKH�
KXQGUHGV�RI�RWKHU�RFFXSDWLRQV�QRW�LQ�WKH�OLVW�RI����RFFXSDWLRQV�

0RVW�LPSRUWDQWO\��IRU OLFHQVHG�WUDGHV��VXFK�DV�HOHFWULFLDQV��VNLOOV�DVVHVVPHQW�LV�RQO\�WKH�ILUVW�VWHS��
7KH�$XVWUDOLDQ�OLFHQVLQJ�V\VWHP�DSSOLHV�WR�DOO�ZRUNHUV�IURP�DOO�FRXQWULHV�UHJDUGOHVV�RI�)7$V��,Q�WKH�
FDVH�RI�OLFHQVHG�RFFXSDWLRQV�WKH�YLVD�KROGHU�LV�RQO\�DEOH�WR�JHW�DQ�2IIVKRUH�7HFKQLFDO�6NLOOV�
5HFRUG��7KLV DOORZV�WKHP�WR�JHW�D�SURYLVLRQDO�OLFHQVH�WR�ZRUN�XQGHU�VXSHUYLVLRQ�EXW�QRW�D�IXOO�
OLFHQVH�XQWLO�WKH\�JR�WKURXJK�WKH�UHTXLUHPHQWV�RI�WKH�UHOHYDQW�VWDWH�RU�WHUULWRU\���

,Q�VXPPDU\��&K$)7$ SXWV�&KLQD��IRU����RI�WKH����RFFXSDWLRQV��LQ�WKH�VDPH�FDWHJRU\�DV�PRVW�RWKHU�
FRXQWULHV�± VNLOOV�DVVHVVPHQW�FRXOG�EH�UHTXLUHG�EXW�LV�QRW�PDQGDWRU\��&K$)7$�WDNHV�DQ�
LQFUHPHQWDO��PHDVXUHG�DSSURDFK�WR�UHYLHZ�DQG�FKDQJH��EHILWWLQJ�&KLQD¶V�VWDWXV DV�D�VLJQLILFDQW�
WUDGLQJ�SDUWQHU DQG�LWV PDMRU�LPSURYHPHQW�LQ�VNLOOV�IRUPDWLRQ��KHOSHG�LQ�SDUW�E\�$XVWUDOLDQ�
YRFDWLRQDO WUDLQLQJ�H[SRUWHUV�

/DERXU�PDUNHW�WHVWLQJ
$Q\�HPSOR\HU�ZLVKLQJ�WR�VSRQVRU�DQ�RYHUVHDV�ZRUNHU�WR�ZRUN�LQ�$XVWUDOLD�XQGHU�WKH�WHPSRUDU\�
VNLOOHG�PLJUDWLRQ�SURJUDP������YLVD��PXVW�PHHW�EDVLF VSRQVRU�REOLJDWLRQV��7KHVH�LQFOXGH WKH�
UHTXLUHPHQW�WR�

x DWWHVW�WKDW�WKH\�KDYH�D�VWURQJ�UHFRUG�RI��RU�D�GHPRQVWUDWHG�FRPPLWPHQW�WR� HPSOR\LQJ�ORFDO�
ODERXU��

x KDYH�D�VWURQJ�UHFRUG�RI��RU�GHPRQVWUDWHG�FRPPLWPHQW�WR� QRQ�GLVFULPLQDWRU\�ZRUN�
SUDFWLFHV�

x SD\�PDUNHW�UDWHV�RI�SD\��ZLWK�D�PLQLPXP�LQFRPH�WKUHVKROG�RI����������DQG�PHHW�DOO�
UHTXLUHPHQWV�XQGHU�$XVWUDOLDQ�ZRUNSODFH�ODZV�

x SD\�VXEVWDQWLDO�VSRQVRU�DQG�YLVD�DSSOLFDWLRQ�IHHV�
x SD\�DOO�WKH�WUDYHO�FRVWV�LQ�WKH�FDVH�ZKHUH�WKH�YLVD�DSSOLFDQW�LV�QRW�DOUHDG\�LQ�$XVWUDOLD�RQ�

DQRWKHU�YLVD��DQG�
x PHHW�PLQLPXP�WUDLQLQJ�UHTXLUHPHQWV�
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1RWKLQJ�LQ�JHQHUDO�SURYLVLRQV�RI�&K$)7$�UHPRYHV�WKHVH�IXQGDPHQWDO�VSRQVRUVKLS�UHTXLUHPHQWV��
%XW &K$)7$�GRHV�VD\�LQ������

,Q�UHVSHFW�RI�WKH�VSHFLILF�FRPPLWPHQWV�RQ�WHPSRUDU\�HQWU\�LQ�WKLV�&KDSWHU��XQOHVV�RWKHUZLVH�
VSHFLILHG�LQ�$QQH[����$��QHLWKHU�3DUW\�VKDOO�

«

�E� UHTXLUH�ODERXU�PDUNHW�WHVWLQJ� HFRQRPLF�QHHGV�WHVWLQJ�RU�RWKHU�SURFHGXUHV�RI�VLPLODU�
HIIHFW�DV�D�FRQGLWLRQ�IRU�WHPSRUDU\�HQWU\�

,Q������WKH�UHTXLUHPHQW�IRU�ODERXU�PDUNHW WHVWLQJ �/07� ZDV�UHLQVHUWHG�LQWR�WKH�0LJUDWLRQ�$FW�IRU�
WKH�����YLVD��/07 UHTXLUHG WKDW�WKH�YDFDQF\�IRU�WKH�VNLOOHG ZRUNHU�ZDV�DGYHUWLVHG�EHIRUH�D�����YLVD�
DSSOLFDWLRQ�FDQ�EH�PDGH��

&RQFHUQV�DERXW�&K$)7$�SURYLGLQJ�H[HPSWLRQ�WR /07 UHTXLUHPHQWV�DUH�EDVHG�RQ�WKH�SUHPLVH�WKDW�
/07�LV�HIIHFWLYH�LQ�SURWHFWLQJ�ORFDO�MREV��%XW�/07 LV�LQHIIHFWLYH�LQ�DFKLHYLQJ�WKLV�DLP��,W�DGGV
VLJQLILFDQWO\�WR�WKH�UHJXODWRU\�EXUGHQ�IRU�HPSOR\HUV�ZLWKRXW�HQVXULQJ�ORFDOV�DUH�UHFUXLWHG�DKHDG�RI�
IRUHLJQ�ZRUNHUV� 7KLV�LV EHFDXVH QR�UHJXODWLRQ�FDQ�EH�GHVLJQHG�WR�VWLSXODWH�ZKLFK�DGYHUWLVLQJ�DQG�
UHFUXLWPHQW�DSSURDFK�EHVW�ILWV�HDFK VLWXDWLRQ��DQG�QR�UHJXODWLRQ�FDQ�IRUFH�HPSOR\HUV�WR�UHFUXLW�RQH�
ZRUNHU�RYHU�DQRWKHU��

7KLV�GHPRQVWUDWHV�WKH�LQHIIHFWLYHQHVV�RI�/07��(YHQ�LI�WKLV�DUJXPHQW�LV�UHMHFWHG��DQG�WKH�XQLRQ�
FODLP�UHJDUGLQJ�WKH�EHQHILWV�RI�/07�LV�DFFHSWHG��VHYHUDO�RWKHU�IDFWRUV�QHHG�WR�EH�FRQVLGHUHG�

x 0RVW�/HYHO�����RFFXSDWLRQV��DURXQG�WZR�WKLUGV�RI�WKH�����SURJUDP��DUH�H[HPSW�IURP�/07�
IRU�DOO�RULJLQ�FRXQWULHV� 7KH�RQO\�RFFXSDWLRQV�WKDW�UHTXLUH�/07�DUH�HQJLQHHUV��QXUVHV�DQG�
WUDGH�OHYHO�RFFXSDWLRQV�����

x 2YHUVHDV�ZRUNHUV�LQ�OLFHQVHG�WUDGHV�KDYH�DGGLWLRQDO�EDUULHUV�WR�ZRUNLQJ�LQ�$XVWUDOLD�GXH�WR�
WKH�VWULFW�OLFHQVLQJ�UHTXLUHPHQWV� ZKLFK�DUH�QRW�H[HPSWHG�XQGHU�&K$)7$�

x 7KH�FRVW�RI�WKH�����YLVD�SURJUDP��LQFOXGLQJ�WKH�FRVW�RI�WKH�VSRQVRU�REOLJDWLRQV��LV�D�EDUULHU�
WR�XVH��

&K$)7$¶V ,QYHVWPHQW�)DFLOLWDWLRQ�$UUDQJHPHQW��QHJRWLDWHG�LQ�D�VHSDUDWH�028� IRU�LQIUDVWUXFWXUH�
SURMHFWV�JUHDWHU�WKDQ������PLOOLRQ�DOORZV LQYHVWRUV WR�HQWHU�LQWR�D�ODERXU�DJUHHPHQW�XQGHU�WKH�����
SURJUDP��7KLV�UHTXLUHV�HPSOR\HUV�WR�SURYLGH�HYLGHQFH�PRUH�VWULQJHQW�WKDQ�ODERXU�PDUNHW�WHVWLQJ�
WKDW�WKHUH�LV�D�JHQXLQH�DQG�V\VWHPLF�VKRUWDJH�RI�VNLOOHG�ZRUNHUV��WKDW�WKHUH�DUH�QR�VXLWDEO\�TXDOLILHG�
$XVWUDOLDQ�ZRUNHUV�DYDLODEOH��DQG�WKDW�WKH\�KDYH�D�FRPPLWPHQW�WR�WUDLQLQJ�$XVWUDOLDQV��/DERXU�
DJUHHPHQWV� DOVR�RSHQ�WR�$XVWUDOLDQ�HPSOR\HUV� SURYLGH�VRPH�DELOLW\�WR�VHHN�FRQFHVVLRQV�WR�WKH�
����SURJUDP�UHODWLQJ�WR�WKRVH�PDWWHUV�UDLVHG�LQ�WKH�028��%XW�QR�FRQFHVVLRQV�DUH�DYDLODEOH�RQ�
WKH�QHHG�WR�SD\�PDUNHW�ZDJH�UDWHV�DQG�FRPSO\�ZLWK�DOO�ZRUNSODFH�ODZV�
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,Q�VXPPDU\��&K$)7$¶V�/07 H[HPSWLRQ�ZLOO�QRW�LQ�DQ\�PDWHULDO�ZD\�OHVVHQ�WKH�REOLJDWLRQV�IRU�
HPSOR\HUV�WR�HPSOR\�ORFDO�ODERXU��SD\�HTXLYDOHQW�ZDJHV DQG�PHHW�PLQLPXP�WUDLQLQJ�UHTXLUHPHQWV�
)RU ODUJH�LQIUDVWUXFWXUH�SURMHFWV�WKH�ODERXU�DJUHHPHQWV�ZLOO�UHTXLUH�HYLGHQFH�RI�ODERXU�PDUNHW�
VKRUWDJHV�DV�SDUW�RI�WKH�ULJRURXV�',%3�SURFHVV�WR�ILQDOLVH�DQ�DJUHHPHQW�

8QGHUSD\PHQW�RI�:DJHV�DQG�&RQGLWLRQV
7KHUH�LV�DEVROXWHO\�QR�SDUW�RI�&K$)7$�WKDW�RSHQV�XS�WKH�UHJXODWRU\�RSSRUWXQLW\�IRU�&KLQHVH�
ZRUNHUV XQGHU�D�����9LVD WR�EH�SDLG�OHVV�WKDQ�$XVWUDOLDQV�� 7KH�REOLJDWLRQV�RI�WKH������WKH�PRVW�
LPSRUWDQW�RI�ZKLFK�LV�WKDW�ZRUNHUV�VKDOO�EH�SDLG�PDUNHW�UDWHV��DQG�WKDW�HPSOR\HUV�KDYH�WR�DELGH�E\�
DOO�$XVWUDOLDQ�ZRUNSODFH�ODZV��ZLOO�VWLOO�DSSO\� 7KHUH�DUH�QR�H[HPSWLRQV��HYHQ�LQ�WKH�/DERXU�
$JUHHPHQW�RSWLRQ��IURP�WKHVH�IXQGDPHQWDO�ZRUNSODFH�ULJKWV�

6XPPDU\
3URYLVLRQV�LQ�&K$)7$�KDYH�D�ORW�LQ�FRPPRQ�ZLWK�WKH�PRVW�UHFHQW�)7$V�LQFOXGLQJ�-DSDQ�DQG�.RUHD�
ZKLFK�KDYH�EHHQ�DSSURYHG�E\�3DUOLDPHQW���,W�LV�LQFRQFHLYDEOH�WKDW�DQ�DJUHHPHQW�ZLWK�RXU�PDMRU�
WUDGLQJ�SDUWQHU�VKRXOG�EH�D�OHVVHU�RIIHULQJ�WKDQ�RXU�RWKHU�WUDGLQJ�SDUWQHUV��DQG�WKH\�TXLWH�ULJKWO\�
H[SHFW�LW�WR�UHIOHFW�$XVWUDOLD¶V�EHVW�RIIHU����
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$XVWUDOLDQ�&KDPEHU 0HPEHUV
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